ISC2019 analysis of study-solutions

Fritz study Nr 3

all correct |wrong |nothing
1.Sel+ 261 176 26 59 Be5 8x Sg3 7x Kd3 4x Bg32x  Sd4 2x e7 2x Bc7 1x
Ked 176 150 18 8 Kg4 18x
2.5g3+ 150 141 7 2 Bg3 5x Sf2 2x
Ke5 141 86| 49 6 Sxg3 24x Kd5 15x  Kf4 9x 300
3.e7 86 53 32 1 Sf3+28x Sf5+3x  Sd3+ 1x
Sxe7 53 a0 10 3 Rd4+ 10x 250 1
4.5f3+ 40 39 0 1
Kfa 39| 37 0 2 200 1 .

M nothing
5.5xh4 371 36 1 0 Ke2 1x 150 L [ ] wron
Kfa 36 29 0 7 &
6.Ke3 29 28 0 1 el B . I correct
Kxh4 28 28 0 0
7.5f5+ 28 23 0 5 Kf4 5x ys B = = _l
| — -
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1.Sel+ Ke4 2.5g3+ Ke5 3.e7 Sxe7 4.5f3+ Kf4 5.5xh4 Kf4 6.Ke3 Kxh4 7.5f5+

Minski/Waelzel study Nr. 9

all correct |wrong |nothing
1.Ked 261 188 29 44 Sd622x  Kcb6 6x a7 1x
h3 188 168 15 5 Bgl 10x Ba7 4x Bd4 1x
2.K73 168] 160 8 0 Kxe36x  Kd41x a7 1x 300
Bc5 160 68 85 7 ed+42x  h224x Ke6 8 Bgl5x  Kg5 4x Ke5 1x 250 |
3.5d6 68 61 6 1 a7 3x Sf5 2x Se7 1x
Bxd6 61 48 2 11 h21x  Ke6 1x 200 -
4.a7 48| 48 0 0 .- _ = nothing
e4+ 48 48 0 0 150 +— —— — mwrong
5.Kg4 48 47 1 0 Ke3 2x
h2 47 46 0 1 100 +— —— —— correct
6.a8Q 46 46 0 0 —
hiq 46| 46| 0 0 st T =
7.Qh8+ 46 46 0 0 0

1.Ke4 h3 2.Kf3 Bc5 3.5d6 Bxd6 4.a7 ed+ 5Kgd h2 6.a8Q hlQ 7.Qh8+




Minski Nr. 5 (cat-2)

all correct |wrong |nothing
1.Se3+ 151 107 11 33
Kh1 107 96 5 6
2.Rf1+ 96 87 5 4
Sgl 87 85 0 2
3.Kel 85 51 27 7
g2 51 51 0 0
4.5f5 51 40 11 0
gxflQ 40 40 0 0
5.Kxf1 40 40 0 0
Se2 40 39 1 0
6.Kf2 39 36 1 2
Van der Marel Nr. 11 (cat-2)

all correct |wrong |nothing
1.Sb4 151 76 35 40
Rxa7+ 76 43 30 3
2.bxa7+ 43 43 0 0
Ka8 43 36 3 4
3.Qh6 36 6 28 2
Qxh6 6 6 0 0
4.5d5 6 6 0 0
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Markevitch Nr. 6 (cat-3)

250
all correct |wrong |nothing

1.Bxa2 236 146 54 36 Bb3+30x Sxc2 10x Sxg29x  Sc4 1x Bd5 1x Bf71x  ? 2x
Rxa2 146] 143 0 3 200 7
2.5c2 143 128 13 2 Scéd 7x Kc4 3x Kd3 1x Sd11x  Sd4?? 1x
Kb5 128 96 26 6 Rxc2 16x Ra3 9x Ral 1x 150 - — .
3.Kb3 9%| o4 0 2 [ # nothing
Ra4 94 75 11 8 Rxc2 8x  Ra3 1x a4 2x . mwrong
4.5a3+ 75| 70 4 1 Sd43x  Sb51x 100 +— —] correct
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